PR 1 082 A= G 4 BR

IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
701 ] 5 FEEL 6 21
701 2 5B JLHRTE 12 6
701 3 7 AT 26 20
701 4 5B =B 21 5
701 5 5B N 16 25
701 6 H M 31 12
701 7 5 RFE 22 4
701 8 5 PTE 9 14
701 9 7 SHE I fEe 17 27
701 10 5B A 13 18
701 11 5 B 0 15 11
701 12 W MR 13 19
701 13 B TR ] ]
701 14 B A 25 31
701 21 2L SEE 16 14
701 22 7 Gk 2 13
701 23 18 LE= 20 15
701 24 18 REE 26 4
701 25 7 AETRH ] 27
701 26 18 TR R ] 18
701 27 2L TREFE 13 11
701 28 18 P 17 11
701 29 7 b A 22 24
701 30 7 EESG 14 8
701 31 18 =R 11 13
701 32 2L G 1R 14 29
701 33 18 FRULT 9 2
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PR 1 082 A= G 4 BR

IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
702 ] 5B JaY N 21 25
702 2 5B fo] 2 24 1
702 3 5B SRR 30 20
702 4 5B HKIEZE 19 20
702 5 5 EIE) 20 25
702 6 5 IR 3 6
702 7 5 MK 17 3
702 8 5 e 3 9
702 9 B BlakEdins 17 26
702 10 5 R 21 26
702 11 5 i 11 8
702 12 5 CEIES 2 10
702 13 5B KEhiEE 26 31
702 14 5B AL 11 28
702 15 5B = R 4 5
702 21 18 T 13 28
702 22 7 Rz 3 12
702 23 7 FE2Y ] 24
702 4 2L BT 10 11
702 25 7 PRHET FEE ] 20
702 26 2L B fcH 26 6
702 27 I = 14 23
702 28 7 TREEPE 4 19
702 29 7 AN 15 27
702 30 18 b ER R, 20 28
702 31 7 ] 11 16
702 32 7 ElEcs 17 7
702 33 7 kG 26 15

R&: BEEANE:




PR 1 082 A= G 4 BR

IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
703 1 5B g 23 21
703 2 B LEE 23 4
703 3 5 A K2 ] 12
703 4 EE SRR 12 28
703 5 EE N 3 5
703 6 EE B 19 14
703 7 5B FEEEL 24 18
703 8 W HEE 30 27
703 9 o bR Ik 4 27
703 10 5 RS 4 6
703 11 B &K 28 21
703 12 5 W5 21 27
703 13 5B A 4 24
703 14 5B ErE4 11 27
703 21 7 pRIGHEI: 9 27
703 22 7 ARG 18 30
703 23 7 LT 4 8
703 24 18 I 9 28
703 25 7 MR 10 5
703 26 7 MIEEE 9 4
703 27 2L SR 14 28
703 28 7 PR fE = 4 10
703 29 18 M= 8 10
703 30 2L S 6 7
703 31 7 = I 4 14
703 32 7 = 22 18
703 33 2L S -1 26 11
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PR 1 082 A= G 4 BR

IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
704 ] B AR 11 29
704 2 5B =R 24 29
704 3 5 FRULE) 5 4
704 4 5B MR 20 3
704 5 & AR 13 1
704 6 H PREEZK 18 4
704 7 5B Bl 8 27
704 8 7 SUER 15 3
704 9 5 RIGE 31 16
704 10 5 BHTE B 10 13
704 11 5B | Bt 27 10
704 12 5B 5T 28 17
704 13 5B = ok 5 20
704 14 5 BHHE 15 6
704 15 5B L an T 29 26
704 21 18 THZE 11 24
704 22 18 T 10 10
704 23 7 FEET 28 28
704 24 18 BRI 16 18
704 25 7 =T 8 9
704 26 18 TREZE 19 6
704 27 2L {22 13 6
704 28 2 A 27 14
704 29 2L IR 1 17
704 30 7 iclii)i= 27 16
704 31 18 T 20 1
704 32 7 ZEHeER 18 29
704 33 18 BT ] 14

R&: BEEANE:




PR 1 082 A= G 4 BR

IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
705 ] 7 SRR 27 20
705 2 B MOEER 4 21
705 3 5 SRR 20 23
705 4 5B S| 18 28
705 5 5 of {ER% 32 ]
705 6 5 o {ET 32 y)
705 7 & EE(H 24 19
705 8 5 B 2 31 15
705 9 5 BT 3 7
705 10 5 HTR 19 17
705 11 5B =TT 11 30
705 12 5 Eean e 15 ]
705 13 5B BRJRAR 20 19
705 14 B EER 13 15
705 15 5B FEfHZE 5 23
705 21 7 TEERR 19 3
705 22 7 LHZE 2 21
705 23 7 SRR 25 21
705 24 18 oplaZ 9 3
705 25 7 SFE 14 y)
705 26 18 2N L 7 15
705 27 18 Be 45 27 7
705 28 18 =/NE 21 3
705 29 18 =T 6 12
705 30 7 % o] 3 9 12
705 31 18 EEE 16 12
705 32 18 NS, 22 11
705 33 18 FECPIGE 4 20
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PR 1 082 A= G 4 BR
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IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
706 ] B RRE 6 24
706 2 B LD 20 6
706 3 5B MEE 4 7
706 4 5B Bl = 18 19
706 5 5 {REH 23 6
706 6 B | REE 8 15
706 7 EE SEE A 27 y)
706 8 5 e 6 3
706 9 5 FRAE 13 20
706 10 5 =/ 21 23
706 11 5 =K 16 24
706 12 " LIPS 13 27
706 13 B 1 7 30
706 14 5 A ] 11
706 21 18 R 19 28
706 22 7 BIRGE 28 19
706 23 18 LRI 25 14
706 24 18 of A 7 12
706 25 2L A= 22 31
706 26 7 b H [El 11 17
706 27 7 BT oK 31 4
706 28 18 i 25 3
706 29 2L it 26 30
706 30 7 s 6 9
706 31 18 F A 7 18
706 32 2L EEEE 18 3
706 33 7 AR 29 5
706 34 L BRI 16 11
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
707 ] B BIRTF 10 22
707 2 5B TREETE 19 19
707 3 5 EE A 15 12
707 4 5B ok 16 28
707 5 5 ST 2 26
707 6 5 SPEE 26 22
707 7 5 B 17 4 27 9
707 8 H =W 23 7
707 9 EE T fHE 21 24
707 10 B =l 7 4
707 11 5B Vil 17 23
707 12 5B SPFI 18 22
707 13 5B RS 7 22
707 14 5B FfEE 2 ]
707 21 18 FEIT 19 22
707 22 7 AN VK] 29 22
707 23 18 A 553E 15 19
707 24 18 EREE 14 4
707 25 18 = RS 24 7
707 26 7 g/ LBy ] 26
707 27 7 ErE % 19 29
707 28 2L IR A 30 28
707 29 2L R 4 13
707 30 18 FERIH 29 21
707 31 7 FEAL 12 16
707 32 7 R i 18 7
707 33 2L BRITIE 21 ]
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
708 ] B ERE 31 4
708 2 5B 5K 19 15
708 3 W =E 2 27
708 4 5B BRE 6 ]
708 5 5B BT 32 26
708 6 5 B 258 12 4
708 7 5B Bek A 29 10
708 8 5 B =K 7 32
708 9 o R[] 6 25
708 10 5 EEE 30 19
708 11 5 Zp 5 18 15
708 12 5 KRB 2 28
708 13 5B ZEW 12 27
708 14 5 FEIE 11 y)
708 15 5 e 21 7
708 21 18 TR 23 10
708 22 2L FrKEs 10 27
708 23 7 AR EE 18 5
708 4 2L ENES 5 10
708 25 18 I 17 15
708 26 2L SEIEE] 13 12
708 27 18 FEPIT 20 10
708 28 18 A 22 3
708 29 2L S 25 26
708 30 L shanE 21 30
708 31 2L a] T 28 11
708 32 7 aEE 27 29
708 33 2 ERIGER 22 13
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POHREER H 108 E2AFE S AR 4Pt 4 B
TEFHRER | E=0EESR | Ml | EEHEETAR | BEHERE T
709 1 B = ENT 9 15
709 2 5B R 11 5
709 3 5 EE] 15 30
709 4 H yR{EZE 12 4
709 5 H NI 32 27
709 6 B A 5 2
709 7 & PR R 30 24
709 8 5 P AHES 7 20
709 9 " sy e 2 4
709 10 5 =R 10 14
709 11 5 e 27 3
709 12 5 Bk 11 4
709 13 5B T d /A 31 26
709 14 5 i e 18 14
709 15 EE SRS 16 y)
709 21 18 I 21 18
709 22 18 FEIFF 29 29
709 23 18 Uk 1 19
709 24 7 PRIESH 22 y)
709 25 2L = 8 13
709 26 18 FEPIE 30 16
709 27 18 RIERE 19 4
709 28 2L e 5 15
709 29 18 it 22 9
709 30 2L [ ARk 24 27
709 31 7 i B E 3 14
709 32 L LTS 8 11
709 33 18 BT 28 26
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PR 1 082 A= G 4 BR
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IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
710 ] 5 TR 9 21
710 2 5B H5FI 6 20
710 3 5 TEE 5 26
710 4 5B AR 29 6
710 5 EE VL ZETE 13 4
710 6 B MEE 15 16
710 7 & HWEF 6 2
710 8 5 yRIE 5 22 29
710 9 5 PR AT 34 25 6
710 10 7 B E = 8 21
710 11 5B o 9 19
710 12 5 IEHIS 28 7
710 13 5B P 15 14
710 14 5 ZLHAR 6 22
710 21 7 J LA 4 18
710 22 18 G flilge 5 16
710 23 7 Gy 25 5
710 24 7 MRIEZ 17 12
710 25 7 ATER 31 18
710 26 7 eSS 9 6
710 27 18 ) 1 26 29
710 28 7 HIEYE 3 19
710 29 18 B EER 25 25
710 30 7 ZIhE 13 14
710 31 L ST 16 19
710 32 7 RE(FZ 24 28
710 33 7 5T 9 )
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
711 ] 7 J7ER 14 15
711 2 W HEE 17 6
711 3 EE RFNE 12 5
711 4 EE A 5hgs 2 12
711 5 5B RER 18 20
711 6 H TRPEH 31 17
711 7 & PR E 16 9
711 8 5 PR AT FR 5 27
711 9 5 R 7 26
711 10 B Elaae! 29 7
711 11 5 5/ DEE 26 8
711 12 5 BBk 20 22
711 13 5B ZEE 15 4
711 14 B ZIEH 8 16
711 15 5 SR 1G 21 4
711 21 2L Bl 10 ]
711 22 7 TR 10 2
711 23 18 AR 12 10
711 24 7 R 24 6
711 25 2L BTt 22 8
711 26 % GCEFS 14 22
711 27 2L RET 27 21
711 28 18 2 3 18
711 29 7 Bk it FE 5 18
711 30 7 PRER R 2 16
711 31 7 ExV=Yiid 26 3
711 32 7 TR 11 23
711 33 18 ZXABIL 19 2
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
712 1 5 B 8 22
712 2 B AN 26 10
712 3 5 JE R 11 3
712 4 5B A 6 17
712 5 EE HLERE 26 y)
712 6 5 (B ) 24 9
712 7 5B RIS 31 6
712 8 B B 1S 15 29
712 9 5 Z 5 H] 8 17
712 10 5 A 26 21
712 11 & A 12 22
712 12 5 E R 13 16
712 13 5B Z5R 23 25
712 14 5 S0 E I 10 15
712 15 EE EAE S 1 6
712 16 5B RS 31 22
712 21 18 B 16 15
712 22 7 RIE 18 8
712 23 18 i 6 8
712 24 2z 2 HE 28 18
712 25 18 WEZ 4 12
712 26 18 HWE% 12 12
712 27 7 FIEE 3 15
712 28 7 Bk ke 13 9
712 29 L =HI1N 26 14
712 30 7 el 18 10
712 31 18 EFE 15 21
712 32 7 B 10 7
712 33 18 21 R 22 10
712 34 18 PN 19 27
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
713 1 5 ST 7 3 ]
713 2 7 KK 4 y)
713 3 5B EXEVA 8 25
713 4 5B MR 28 8
713 5 5B WEZ 31 30
713 6 & HH 32 11 12
713 7 EE HFKH] 15 13
713 8 5 Be {2 1 22 6
713 9 5 (IR 24 15
713 10 5 =HEIR 24 3
713 11 5 w=HEE 17 30
713 12 5 EERE 31 5
713 13 5B ERE 2 3
713 14 5 ZIEH] 14 17
713 15 5 2 [E] ()l 6 19
713 16 B FETH AL 18 23
713 21 18 % 29 17
713 22 7 DTN 31 y)
713 23 2L FHEE 29 15
713 24 2L FEYY 28 12
713 25 7 =5 25 10
713 26 2L i 23 8
713 27 2L RE® 17 14
713 28 7 TR 20 17
713 29 L8 B L3 32 4
713 30 7 S5k T R, 25 11
713 31 18 EEIES 9 8
713 32 18 HEES 15 25
713 33 2L ZTiE 10 4
713 34 7 B 17 16
713 35 L8 EARNYE 30 y)
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
714 ] 7 ERE 28 13
714 2 5B ST 21 17
714 3 5 NN 15 5
714 4 5B ERH 20 4
714 5 5B AR 29 3
714 6 5 [ s 23 19
714 7 5B SRR 11 ]
714 8 o BRI 4 26
714 9 5 GIsL A 17 31
714 10 5 FER 23 29
714 11 5 HIDE 6 28
714 12 5 T 7 31
714 13 5B EELE 19 10
714 14 B ZEZ 2 30
714 15 5B ZERE 3 26
714 16 5B 2R 12 21
714 21 2L THERE 22 12
714 22 7 REHE 7 8
714 23 18 T 18 13
714 24 18 T 2 22
714 25 2L M= 30 13
714 26 2L o o] 2 21 15
714 27 7 SHEE 2 17
714 28 7 LE= ! 9 11
714 29 7 JE R 3 11
714 30 7 TRIFEE 2 23
714 31 18 = 14 25
714 32 2L TR 25 16
714 33 2L EFE 13 10
714 34 7 E ke sy 10 9
714 35 18 ISR 9 30
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
715 ] 5B HREs 13 21
715 2 5B G KT 28 1
715 3 5 StHAL 7 3
715 4 5B MRUAER 27 4
715 5 5B MWEE 22 16
715 6 B M2 11 7
715 7 & HIE 22 26
715 8 5 R 28 32
715 9 H RIE S 14 12
715 10 5 VA 8 28
715 11 5 BT B 13 17
715 12 5 =L 5 3 28
715 13 5B EEHE 18 16
715 14 5 ZI20EF 28 y)
715 15 5B SRFEK 17 5
715 16 B AR IE 16 7
715 21 7 T IiE 9 29
715 22 7 (BN 27 22
715 23 7 AT 8 7
715 24 7 ER 22 25
715 25 7 BB, 17 17
715 26 7 R 10 8
715 27 7 LB 11 19
715 28 18 TREETT 30 29
715 29 7 RS 6 6
715 30 7 S onE 27 18
715 31 7 b ER 25 32 29
715 32 L ) 30 12
715 33 18 ZIHENS 16 22
715 34 18 IEdn 19 24
715 35 7 SELIgE 16 21
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
716 ] 5B B ] 8
716 2 5B FHEAN 14 19
716 3 5 = 5 30 21
716 4 5B BIEE 20 7
716 5 5 M 12 30
716 6 B IR 31 9
716 7 5 EAHFN 4 25
716 8 B yREIEE 15 8
716 9 5 yR4EH 29 28
716 10 5 AFEE 22 27
716 11 5B Pl s 4 22
716 12 5B EEEN 31 14
716 13 5B IS 17 29
716 14 B LiyING, 22 20
716 15 5B FEEAT 5 22
716 16 B IR 7 ]
716 21 18 FFe 27 8
716 22 7 FRE 15 18
716 23 7 M 18 y)
716 24 18 RPlEE 12 8
716 25 18 TR 30 8
716 26 18 TR L 31 28
716 27 7 TRAEER 5 9
716 28 7 ST 13 5
716 29 18 Gl 21 14
716 30 18 P52 14 27
716 31 18 B S 6 16
716 32 7 PR = ik 18 31
716 33 18 TERE]] 31 19
716 34 7 R E 28 5
716 35 7 xR e 9 7
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
717 ] 5 B R 14 9
717 2 5B T 10 30
717 3 5B = EAE 32 28
717 4 5B A 27 13
717 5 5 ZEETT 20 20
717 6 5 JUNERE 22 19
717 7 5 MEESR 2 8
717 8 7 SEESL 21 20
717 9 EE SHIRE 21 19
717 10 5 TRE 3 10
717 11 5 PR 22 28
717 12 5B EUN 7 21
717 13 5B EAESas 2 9
717 14 5B =P 18 27
717 15 5B XN 29 18
717 16 5 Pk 12 25
717 21 2L HH =15 4 15
717 22 By JEARE 29 14
717 23 7 PROREE 15 20
717 24 7 ki 21 29
717 25 7 R 14 6
717 26 7 = 23 15
717 27 2L PR 4T 2 17 10
717 28 18 B B2 26 28
717 29 L 2 7 13
717 30 7 B 7 B 7 14
717 31 7 InlEEE 10 28
717 32 7 E-teietiil 7 11
717 33 8 i 23 28
717 34 18 ZIB4F 19 25
717 35 18 e 31 23
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
718 ] 5 e 16 10
718 2 5B o 3B 40 31 20
718 3 EE s 30 9
718 4 5B JUNERE] 12 7
718 5 5B LT 30 25
718 6 5 MAS % 27 30
718 7 B TR ] 28
718 8 o AR 18 26
718 9 EE e 24 25
718 10 B yRAG 4 10 19
718 11 5 B = 26 ]
718 12 5B ek B 11 31
718 13 B EREZ 9 23
718 14 5 S| 28 9
718 15 EE e 9 16
718 16 EE Eal=1ES 17 22
718 21 2L N =a=t 24 22
718 22 18 niiFar 11 25
718 23 2L FHE 26 5
718 24 7 JiiHE S 12 13
718 25 7 HHERE 17 18
718 26 18 B 25 20
718 27 7 PR A X 26 26
718 28 7 BEk E 12 18
718 29 2L o PRI 2 20
718 30 2L Niiaia:a 19 9
718 31 L m=FE 22 14
718 32 7 =T 5E 25 27
718 33 2L =M ] 25
718 34 7 HIEYE 6 14
718 35 2L 2 13 13
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PR 1 082 A= G 4 BR

IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
719 ] 5B R 25 28
719 2 5B BER 21 28
719 3 5B BB 23 23
719 4 5B SAHEE 15 15
719 5 5 o= 18 25
719 6 EE &R 16 8
719 7 EE SRS 29 23
719 8 5 G aRis 20 21
719 9 5 G 23 20
719 10 B HEE 12 ]
719 11 5 ikaetsa 11 11
719 12 5 P 5 19
719 13 5B TERA 26 9
719 14 5 EX&i 3 30
719 15 5 ek 4 ]
719 21 18 THAE 29 y)
719 22 18 FEiklm 6 11
719 23 2L R 11 20
719 4 18 LEE 15 23
719 25 18 PRI 5 14
719 26 18 TR 3 21
719 27 18 TREER 5 17
719 28 18 ki 16 23
719 29 18 i 6 13
719 30 18 BER 8 29
719 31 18 B EAT 14 30
719 32 18 BRTERS 2 14
719 33 2 AT 23 14
719 34 2L fk T4 16 16
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PR 1 082 A= G 4 BR

IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
720 1 " B 7R 23 11
720 2 5B SRR 5 21
720 3 EE BRE 18 17
720 4 5B FF AN 19 11
720 5 5 el 4 23
720 6 5 HEFERE 27 11
720 7 5B B e B 7 28
720 8 5 =T 19 13
720 9 5 = B 9 17
720 10 5 = 23 5
720 11 5B BEST i 20 y)
720 12 5 EyNiE 15 17
720 13 5B Bt 13 25
720 14 5 Ecia 7 24
720 15 5B gRtalE 20 5
720 21 18 T 15 28
720 22 2 B ;i 23 17
720 23 18 S 9 5
720 4 18 B 13 7
720 25 7 ALk 15 26
720 26 2L RFE 23 ]
720 27 18 =SEE 13 4
720 28 2L TR 20 11
720 29 2L s 21 16
720 30 18 ErTHEE 19 7
720 31 7 B 4T 19 ]
720 32 7 A 23 26
720 33 18 = 1A 7 10
720 34 8 50T 7 17

R&: BEEANE:




PR 1 082 A= G 4 BR

IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
721 ] B Sl 6 18
721 2 B Y 24 20
721 3 5B EIL 24 10
71 4 5B MIEE 15 9
71 5 5 MIEF 17 y)
721 6 B TRIZTR 11 10
721 7 5B TRESTT 21 21
721 8 5 [ =gas 19 12
71 9 5 BRE % 27 27
71 10 5 =R S 9 22
721 11 5 EHA 13 23
71 12 5B ZIHE 16 26
71 13 5B i = A 24 30
721 14 B =1 29 9
721 15 5 EARVA=S 22 23
71 21 18 (BRSNS 18 6
721 22 7 HIE 19 21
71 23 18 STk 27 28
721 4 18 M2 20 29
71 25 18 UNIES 26 25
71 26 7 {REZaH 8 6
71 27 7 yRE R 28 31
71 28 7 R 18 ]
721 29 18 SFETE. 20 14
721 30 7 FRIRFE 19 23
721 31 L TS 20 18
721 32 2L BT 20 12
721 33 7 i E 2 24
721 34 8 SO 4 9
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EERFETAR
722 ] 5 Bty 6
722 2 B AL 20
722 3 B | MEEHK 5
722 4 5B B 23
722 5 5B HHETS 17
722 6 B e 14
722 7 & TR 23
722 8 B HEH )
722 9 5 = HEE 2
722 10 B BEiE 16
722 11 5B ZIKiEF 9
722 12 5B S 15
722 13 5B EERA 17
722 14 5 WA FE 24
722 15 5B ZERTAR 11
722 21 18 T 5k 5
722 22 7 ST 18
722 23 7 S| 16
722 24 7 JUNERS 26
722 25 7 MER 27
722 26 7 G = 19
722 27 18 2EE 11
722 28 18 o1 R T 15
722 29 18 TR 3
722 30 7 Bk kA 1
722 31 18 ZIFEH 13
722 32 L ZLSETT 16
722 33 7 8= 8
722 34 2L Sl 23
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
723 ] 5 = T4 14 13
723 2 7 = 4H 19 18
723 3 EE AR 21 8
723 4 5B MR 14 11
723 5 5 ol S 12 y)
723 6 B EH% 1 2
723 7 5 (ERESIS 24 12
723 8 B PGS 14 16
723 9 5 e 10 23
723 10 5 Btk 2 7
723 11 5B B 16 27
723 12 5B 2 26 7
723 13 5B e ] 10
723 14 5 FE L 26
723 15 5B R 32 25
723 21 7 EHE ] 13
723 22 7 BRE 18 12
723 23 18 LRI 21 10
723 24 2L Z T 26 16
723 25 2L = H 25 2
723 26 2L S 8 5
723 27 18 5 oL 25 24
723 28 7 B a3 14 4
723 29 2L EEdiE 10 6
723 30 2L EANE 26 12
723 31 7 ik~ 20 27
723 32 L ZIHTRk 29 19
723 33 2L LA 4 17
723 34 2L BT 5 6
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
724 ] 5 TEfE 16 3
724 2 5B HIER 5 3
724 3 5B R 14 20
724 4 " SRR 26 4
724 5 5 5 £ 7 y)
724 6 B AL 22 7
724 7 5B IR 15 10
724 8 7 TR 12 19
724 9 5 GG 10 21
724 10 5 HiGE 9 25
724 11 5B ZI2 &) 3 8
704 12 5B ZI it 3 y)
724 13 5B BRI 13 26
724 14 5 L 12 26
724 15 5B [iGE = 7 23
724 21 18 FEFT 21 y)
704 22 7 MOT A 12 15
724 23 2L MEE 11 22
724 24 2L AT 26 27
704 25 18 MITEK 28 27
724 26 7 TRIEE 25 4
724 27 7 RERLE 11 15
724 28 7 FIEE 14 26
724 29 2L = E 7 6
724 30 7 EliA 17 8
724 31 18 B 23 y)
724 32 L BEMN 14 5

724 33 L R 20
724 34 8 SR 2 15
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PR 1 082 A= G 4 BR

IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
725 ] 5 IR R 27 26
725 2 B AR H]] 1 7
725 3 5 Gkt 26 23
725 4 5B BT 12 20
725 5 5B RFE 1 9
725 6 B RILE 3 29
725 7 EE SRS 16 31
725 8 o SLERE 2 11
725 9 " FELS 17 21
725 10 5 = IR 28 3
725 11 5B ZI0HH 12 23
725 12 5 A 28 20
725 13 5B E b 21 22
725 21 7 EiEei 13 30
725 22 18 AT 17 9
725 23 18 A4 24 13
725 24 2L Ak i 5 8
725 25 2L TRREH 15 24
725 26 7 FhiEFx 7 9
725 27 2L PR 4 1% 6 5
725 28 18 = 25 13
725 29 18 SHEE 20 13
725 30 7 BT 29 4
725 31 2L = {VHE 26 17
725 32 2L kI 2 25
725 33 2L A T 12 11
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POHREER H 108 E2AFE S AR 4Pt 4 B
IEPESN | E=CRE SR | MR | EEHEETAR | BEHERE T
726 ] 5 T Bl 28 16
726 2 5B 7 EH] 20
726 3 EE IEE 11 9
726 4 H G R 16 1
726 5 5 M ZE 3 27
726 6 5 Bl 8 14
726 7 5B HHE A 1 29
726 8 5 RIS 16 5
726 9 o TR R ] 3
726 10 5 TREEC 30 ]
726 11 5 FHER 16 4
726 12 5 FER 28 14
726 13 5B 7 24 8
726 14 B S fIHET 3 24
726 21 18 SR 31 25
726 22 18 [ 8 12
726 23 18 JUNERE 8 8
726 24 7 REEL 29 11
726 25 2L yRUEI B 12 17
726 26 7 TRIGE 24 14
726 27 7 BRECAT 19 5
726 28 7 ek L8 20 16
726 29 2L etk 13 y)
726 30 2L =4l 23 16
726 31 L ETE 18 11
726 32 L ZIHmA0 21 13
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